
 

© by WilTec Wildanger Technik GmbH  Artikel/Item/Article 51484 Seite/Page 1 
http://www.WilTec.de 
http://www.aoyue.eu      09 2021-1 
http://www.teichtip.de 

51485 – Rasenwalze | Lawn roller | Rouleau de jardin 
 

 
Nr. 
№ 

Beschreibung 
Description 

Anz. 
Qty./Qté. 

Nr. 
№ 

Beschreibung 
Description 

Anz. 
Qty./Qté. 

1 
Verlängerungsschiene 
Frame extension bar 
Barre d’extension 

2 8 
M12-Kontermutter 
M12 lock nut 
M12 écrou 

2 

2 
Trommelwalze 
Roller drum assembly 
Rouleau de tambour 

1 9 
Schraubenset 8×25 
Set of bolts 8×25 
Kit de vis 8×25  

4 

3 
Halterung 
Bracket 
Soutien 

1 10 
Schraubenset 8×35 
Set of Bolts 8×35 
Kit de vis 8×50 

2 

4 
Gabelbolzen 
Clevis 
Boulon à fourche 

2 11 
Schraubenset 8×50 
Set of bolts 8×50 
Kit de vis 8×50  

2 

5 
Handgriff 
Handle with grips 
Poignée 

1 12 
Schrauben 12×50 
Bolts 12×50 
Vis 12×50 

1 

 
 

 13 
Verankerung für Sicherungsbolzen 
Hitch pin 
Raccord pour boulon de sécurité 

1 

7 
M12-Unterlegscheibe 
M12 washer 
Rondelle 

2 14 
Sicherungsbolzen 
Hitch pin cotter 
Boulon de sécurité 

1 

 

Handgriff zum Schieben 
Handle for manual pushing  
Poignée pour pousser 


